Organic Chem 1T (CHEM 442) Spring 2016 Dr. Hahn's Class Form A MWF 1 pm Quizl Exam #

Sign Name !%’ Print Name

Please show work on all questions for partial credit even on questions which do not specity. (25 pts} A/ b ( to

la. For the element Sn  show the clectron conﬁguration for all valence electrons in the format is?, 2%,
. ete (3 pts each letter._ 6 p‘[s total’) (_7 > 637

b. For the same element, how many valence clectrons is in the atom 7 4

2. For the molecule below, ma examplc of the following type of isomer and draw it in the space

(3 pts each

pts total} 0 OM
g"ézfi‘/ ‘\) C (. a) structural {or constitutional) 1somer
i .CP 2CH20H

b} enantiomer (either 3D drawing

l B
t

) ( i

(e ‘f
2. a. Complete the following reacno mechanism: E]ectrophlhc Additior gt} eaifene. Snt Show
correct Lewis Dot structures & electron pushing arrows. 3 D drawings not needed (13 pts total, 9 pts)

H‘@ S

b. Draw the mdluhmu energy diagram and show what part of the energy diagram matches what part of the

mechanism. (4 pts) :
b
& -

Extra Credit: (2 pts) There are 3 w ays to do a hydrogenation reaction on an alkyne, match the stuff over the
arrow with the correct product by filling in the blank.  (a) Lindlar’s catalyst (b)Li°/NHs (c) Pt/Hz

v

H

-1 j CH;3 CIIz-
CHy — C=0——CHs >  CHy—t—C—CH; \cc/\H
1—-/ &\1 | 8



Organic Chem 11 (CHEM 442) Spring 2016 Dr. Hahn’s Class Form B MWF 1 pm Quiz I Exam_#

Sign Name I{_@’Uy : Print Name

t

Please show work on all"questions for partial credif even on questions which do not specify. (25 pts) Q@f o

la. For the clement Se  show the electron conﬁéuration for ail valence electrons in the format 182, 257,
. et (3 pts each ietter, 6 pts totai) Z{_ 5 4&’ 9;
b. For the same element, how many valence ¢ eclrons isintheatom ? {:2
2. For the molceule below, make up onc example of the following type of isomer and draw it in the space
(3 pts each letter, 6 pts total) Z,.f_ CF_ i
1 a) structural (or constitutional) isomer w '

o move
L CHACHrOH L —
CH/C\H CH <( C”/Z

¢) conformation isomer {need Newman pro;ectlon) (should draw a pair, the '1bove molecule does not show

enough information to show a conformational isomer) " l ' [
H + Atk
& AT MG

2. a. Compiete the following reaction mechamsm. SNI ow correct Lewis Dot structures & electron
pushing arrows. 3 D drawings not needed (13 pts total. 9 pts) . ‘ @
1O-CHs

CH; @ ?}13 ﬁ-‘@v 2 /QH;

CHr——C'——-——-Q —H + :S—CH;‘ > (4 — H
£1:

{ \
\9’

[ Br H H-OE Ha (solvent)
% 99 .

b. Draw the matching energy diagram and show what part of the cnergy diagram maiches what part of the
mechanism. (4 pts) M
Eime,

Extra Credit: (2 pts) There are 3 ways o do a hydrogenation reaction on an alkyne, match the stuff over the
arrow with the correct product by filling in the blank. (2) Lindlar’s catalyst (b} Li®/NH; (¢} Pt/ Ha

CH; —C=C——CH: =2 CH}‘):— —Hs \C C/

\ / \CH b



Organic Chem 1T (CHEM 442) Spring 2016 Dr. Hahn’s Class Form A MWF 1 pm Quiz 1 Exam # C ""l v

Sign Name Print Name

Please show work on all questions for partial credit even on questions which do not specify. (25 pts) C,u"ia ; Le

1a, For the element Sn  show the electron configuration for all yalence elcctrons in the format 1s%, 257,
. ete (3 pis each letter, 6 pts total}

b. For the same element, hew many valence electrons is in the atom 7

2. For the molecule below, make up one example of the following type of isomer and draw it in the space
(3 pts each letter, 6 pts total)

1 a) structural (or constitutional) isomer

)%s CH.CH>OH
CHs H

b) enantiomer (cither 3D drawing or Fisher)

2. a. Complete the following reaction mechanism: Electrophilic Addition of H Br to alkene. Sni Show
correct Lewis Dot structures & electron pushing atrows. 3 T) drawings not needed (13 pts total, 9 pts)

CHz H

=C
II/ \\H

so
+ H-Bre-—>
ge ©

b. Draw the matching energy diagram and show what part of the energy diagram matches what part of the
mechanism. (4 pts)

Extra Credit: (2 pts) There are 3 waystodo a hydrogenation reaction on an alkyne, match the stuff over the
arrow with the correct product by filling in the blank.  (a) Lindlar’s catalyst (b} Li®/NHs (c) Pt/Ha

CH3

CH;s
CH; — C=C——CHs = CHA'—S—CH; ' \C<ﬂ
| Y N v



Organic Chem I (CHEM 442) Spring 2016 Dr. Hahn’s Class Form B MWE 1 pm Quiz T Exam # C~ { i

Sign Name Print Name

Please show work on all questions for partial credit even on questions which do not specify. (25 pts) Qc?{o;,__

la. For the element Se  show the electron configuration for alf valence electrons in the format 1%, 25%,
. ete (3 pts each letter, 6 pts total)

b. For the same ¢lement, how many valence electrons is in the atom ?

2. For the molecule below, make up one example of the following type of tsomer and draw it in the space
(3 pts each letter, 6 pts total) '

1 _ a) structural {or constitutional) isomer

/C,\\'w 'CHrCH»O-H
CH: H .

¢) conformation isomer (need Newman projection) (should draw a pair, the above molecule does not show
enough information to show a conformational isomer)

2. a. Complete the following reaction mechanism: Syl Show correct Lewis Dot structures & electron
pushing arrows, 3 D drawings not needed (13 pts total, 9 pts)

CHa CHs _
. 4
CHs—{ € —H + tOCHy" >
: Q

+Br? H HOCHs (solvent)
s BE :
b. Draw the matching energy diagram and show what part of the energy diagram matches what part of the

mechanism. {4 pis)

Extra Credit: {2 pts) There are 3 ways to do a hydrogenation reaction on an alkyne, match the stuff over the
arrow with the correct product by filling in the blank. (a) Lindlar’s catalyst  (b)Li®/NH; (¢} Pt/ H:

' ' S H CH\ H
CHy—C=C——CH; - > CHs ]4 —%—Cl—h

e
C=C -
H/ \CHg o



